
Filbyter Bridge

2014-02-08  DM Lag B-final, rond 1 Bricka 1-12
4 bord, 8 par. Antal brickor: 12. IMP över fältet.

Par Kontr Ut Resultat Poäng

1

[ QT
] 7654
{ Q2
} AK764

[ A964
] T3
{ KT9543
} 2

[ 73
] KQ98
{ J87
} T983

[ KJ852
] AJ2
{ A6
} QJ5

101 301 4[ S +2 }A 480       7 -7
102 302 4[ S +2 }A 480       7 -7
2 202 4[ S +1 }A 450       4 -4
1 201 3[ S +3 }K 230       -18 18

Par Kontr Ut Resultat Poäng

2

[ A87
] QT94
{ KQ8753
} ---

[ J63
] KJ865
{ J4
} 643

[ K5
] 72
{ 96

}KQ98752
[ QT942
] A3
{ AT2
} AJT

2 202 3[ S -1 { K -100 7 -7
101 301 4[ S -1 { K -100 7 -7
102 302 3N S -1 { K -100 7 -7
1 201 3N S -4 { K -400 -21 21

Par Kontr Ut Resultat Poäng

3

[ T95
] AKJ3
{ K74
} A54

[ 62
] T5
{ AJ65
} KQT76

[ KJ74
] 872
{ QT83
} J3

[ AQ83
] Q964
{ 92
} 982

101 301 3} S = ]A 110       0 0
1 201 1N V -1 }K 100       0 0
2 202 1N V -1 }K 100       0 0

102 302 1N V -1 }K 100       0 0

Par Kontr Ut Resultat Poäng

4

[ T4
] AQ86532
{ K9
} AK

[ Q6
] T74
{ QJT3
} Q765

[ AK972
] J
{ 642
} 8432

[ J853
] K9
{ A875
} JT9

101 301 3] V +2 {Q -200 30 -30
1 201 4] V +1 {Q -650 -10 10
2 202 4] V +1 {Q -650 -10 10

102 302 4] V +1 {Q -650 -10 10

Par Kontr Ut Resultat Poäng

5

[ Q743
] 2
{ 9863
} K942

[ J6
] Q9873
{ KT2
} Q63

[ AK852
] AJ
{ Q754
} T7

[ T9
] KT654
{ AJ
} AJ85

2 202 4[ Ö -1 { A 50       10 -10
102 302 4[ Ö -1 ] 5 50       10 -10
1 201 3[ Ö = { A -140 -10 10

101 301 3[ Ö = [T -140 -10 10

Par Kontr Ut Resultat Poäng

6

[ KT3
] KT85
{ QT87
} 32

[ Q4
] 43
{ K432
} JT874

[ J975
] AJ9762
{ ---
} AKQ

[ A862
] Q
{ AJ965
} 965

102 302 3] Ö +2 }5 -200 30 -30
1 201 4] Ö +2 }6 -680 -10 10
2 202 4] Ö +2 [A -680 -10 10

101 301 4] Ö +2 [A -680 -10 10

Par Kontr Ut Resultat Poäng

7

[ QJ6
] K53
{ 7532
} JT5

[ T
] A94
{ J964
} AK873

[ K9873
] 87
{ KQ8
} 962

[ A542
] QJT62
{ AT
} Q4

101 301 6] S = }5 1430       39 -39
2 202 4] S +2 }J 680       -10 10

102 302 4[ S +1 [5 650       -13 13
1 201 4] S = }J 620       -16 16

Par Kontr Ut Resultat Poäng

8

[ A5
] 932
{ T63
} KQJ53

[ J762
] Q65
{ Q52
} T92

[KQT983
] AJ4
{ 984
} 4

[ 4
] KT87
{ AKJ7
} A876

1 201 4[ Ö -2 { A 100       5 -5
101 301 3[ Ö -2 { K 100       5 -5
102 302 4[ Ö -2 { A 100       5 -5
2 202 3} N -2 [K -100 -15 15

Par Kontr Ut Resultat Poäng

9

[ A3
] K8
{ AT764
} KQT5

[ JT852
] A2
{ K95
} A82

[ 94
] JT976
{ Q83
} 763

[ KQ76
] Q543
{ J2
} J94

1 201 4[ N -1 ] J -50 2 -2
2 202 3[ N -1 ] J -50 2 -2

102 302 2[ N -1 ] J -50 2 -2
101 301 4[x N -1 ] J -100 -6 6

Par Kontr Ut Resultat Poäng

10

[ QJ7
] 32
{ K87652
} 73

[ 963
] JT764
{ A3
} AJ4

[ 8542
] 98
{ QT94
} T96

[ AKT
] AKQ5
{ J
} KQ852

102 302 7N N = [2 2220       17 -17
1 201 7] N = { 9 2210       17 -17
2 202 7] N = ]9 2210       17 -17

101 301 5] N +2 ]9 710       -51 51

Par Kontr Ut Resultat Poäng

11

[ AT64
] KQ854
{ J43
} 9

[ 753
] J732
{ Q2
} AKQ4

[ KJ2
] A96
{ KT6
} 7653

[ Q98
] T
{ A9875
} JT82

2 202 1N S -1 ] 5 -50 9 -9
1 201 3] V = }A -140 -2 2

102 302 3{ N -3 ]A -150 -2 2
101 301 3] V +1 }K -170 -5 5

Par Kontr Ut Resultat Poäng

12

[ 7
] AQT6
{ JT8542
} 76

[ AQT85
] K87543
{ K
} 3

[ J6432
] 9
{ A973
} J84

[ K9
] J2
{ Q6
} AKQT952

2 202 3N S +3 { J 690       17 -17
101 301 4[ S +1 [7 650       14 -14
1 201 5} S = [7 600       8 -8

102 302 4[ N -2 { A -200 -39 39



Filbyter Bridge

2014-02-08  DM Lag B-final, rond 1 Bricka 1-12
4 bord, 8 par. Antal brickor: 12. IMP över fältet.

Plac Par Poäng Rond Namn Lag

1 201 1,53 55 Kent Hidsjö - Göte Olauson Kisa
2 2 0,58 21 Johan Johansson - Leif Lyngmo THE Leech
3 101 0,56 20 Tony Lindblom - Dag Johansson Kisa
4 102 0,39 14 Jonatan Westerberg - Lennart Emanuelsson Team EMA
5 302 -0,39 -14 P-G Igelström - Klas Eriksson THE Leech
6 301 -0,56 -20 Åsa Norling - Leif Norling Kling
7 202 -0,58 -21 Anna Björling - Roland Myrvold Team EMA
8 1 -1,53 -55 Roger Larsson - Eva Klingspor Kling


